

The Illinois State Toll Highway Authority 2700 Ogden Avenue Downers Grove, Illinois 60515-1703 630/241-6800 630/241-6100 Fax 630/241-6898 TTY 1-800-TOLL-FYI Road Conditions www.illinoistollway.com

BID OPENING RESULTS

IFB

14-0165 Citrix Netscaler Equipment, Maintenance, Support, Training and Services

Wednesday, December 3, 2014

	Vendor Name:	Grand Total Bid: (Total of Groups 1 and 2)
1.	CDW Government LLC	\$1,391,166.00
2.	Accenture LLP DBA Proquire LLC	\$1,400,798.60 *
3.	lyka Enterprises, Inc.	\$1,839,576.96
4.	En Pointe Technologies Sales Inc.	\$1,413,821.86

*Bid withdrawn



The Illinois State Toll Highway Authority 2700 Ogden Avenue Downers Grove, Illinois 60515-1703 630/241-6800 630/241-6100 Fax 630/241-6898 TTY 1-800-TOLL-FYI Road Conditions www.illinoistollway.com

BID OPENING RESULTS

IFB

14-0121 Bituminous Hot Mix Asphalt

Wednesday, December 17, 2014: Time: 10:30 am

endor: Gallaghe	er Materials Corporation			
Line#	Maintenance Site	Estimated Quantity	Unit Price Per Ton	Extension (estimated quantity x unit price)
1.	M-1 Alsip	200 Tons	\$65.00	\$13,000.00
2.	M-2 Hillside	300 Tons	\$No Bid	\$No Bid
3.	M-3 Park Ridge	200 Tons	\$No Bid	\$No Bid
4.	M-4 Gurnee	200 Tons	\$No Bid	\$No Bid
5.	M-5 Schaumburg	100 Tons	\$No Bid	\$No Bid
6.	M-6 Marengo	100 Tons	\$No Bid	\$No Bid
7.	M-7 Rockford	100 Tons	\$No Bid	\$ No Bid
8.	M-8 Naperville	200 Tons	\$No Bid	\$No Bid
9.	M-11 DeKalb	100 Tons	No Bid	\$No Bid
10.	M-12 Dixon	200 Tons	\$No Bid	\$No Bid
11.	M-14 Park Ridge	300 Tons	\$No Bid	\$ No Bid

Bid results are read as submitted at the bid opening.

Results are subject to review for compliance to specifications and review of mathematical calculations.

Vendor: Curran C	ontracting Company			
Line#	Maintenance Site	Estimated Quantity	Unit Price Per Ton	Extension (estimated quantity x unit price)
1.	M-1 Alsip	200 Tons	\$No Bid	\$No Bid
2.	M-2 Hillside	300 Tons	\$No Bid	\$No Bid
3.	M-3 Park Ridge	200 Tons	\$No Bid	\$No Bid
4.	M-4 Gurnee	200 Tons	\$No Bid	\$No Bid
5.	M-5 Schaumburg	100 Tons	\$No Bid	\$No Bid
6.	M-6 Marengo	100 Tons	\$67.00	\$6,700.00
7.	M-7 Rockford	100 Tons	\$67.00	\$6,700.00
8.	M-8 Naperville	200 Tons	\$No Bid	\$No Bid
9.	M-11 DeKalb	100 Tons	\$67.00	\$6,700
10.	M-12 Dixon	200 Tons	\$No Bid	\$No Bid
11.	M-14 Park Ridge	300 Tons	\$67.00	\$6,700.00

Vendor: Peter Baker & Son Co				
Line#	Maintenance Site	Estimated Quantity	Unit Price Per Ton	Extension (estimated quantity x unit price)
1.	M-1 Alsip	200 Tons	No Information provided	No Information provided
2.	M-2 Hillside	300 Tons	\$No Bid	\$No Bid
3.	M-3 Park Ridge	200 Tons	\$No Bid	\$No Bid
4.	M-4 Gurnee	200 Tons	\$62.00	\$12,400.00
5.	M-5 Schaumburg	100 Tons	\$No Bid	\$No Bid
6.	M-6 Marengo	100 Tons	\$65.00	\$6,500.00
7.	M-7 Rockford	100 Tons	\$No Bid	\$No Bid
8.	M-8 Naperville	200 Tons	\$No Bid	\$No Bid
9.	M-11 DeKalb	100 Tons	\$ No Bid	\$ No Bid
10.	M-12 Dixon	200 Tons	\$No Bid	\$No Bid
11.	M-14 Park Ridge	300 Tons	\$No Bid	\$No Bid

Vendor: Arrow Road Construction Co.

Line#	Maintenance Site	Estimated Quantity	Unit Price Per Ton	Extension (estimated quantity x unit price)
1.	M-1 Alsip	200 Tons	\$No Bid	\$No Bid
2.	M-2 Hillside	300 Tons	\$59.00	\$17,700.00
3.	M-3 Park Ridge	200 Tons	\$59.00	\$11,800.00
4.	M-4 Gurnee	200 Tons	\$No Bid	\$No Bid
5.	M-5 Schaumburg	100 Tons	\$59.00	\$5,900.00
6.	M-6 Marengo	100 Tons	\$No Bid	\$No Bid
7.	M-7 Rockford	100 Tons	\$No Bid	\$No Bid
8.	M-8 Naperville	200 Tons	\$No Bid	\$No Bid
9.	M-11 DeKalb	100 Tons	\$No Bid	\$No Bid
10.	M-12 Dixon	200 Tons	\$No Bid	\$No Bid
11.	M-14 Park Ridge	300 Tons	\$59.00	\$17,700.00

Vendor: K-Five Construction Corp.

Line#	Maintenance Site	Estimated Quantity	Unit Price Per Ton	Extension (estimated quantity x unit price)
1.	M-1 Alsip	200 Tons	\$85.00	\$17,000.00
2.	M-2 Hillside	300 Tons	\$85.00	\$25,500.00
3.	M-3 Park Ridge	200 Tons	\$85.00	\$17,000.00
4.	M-4 Gurnee	200 Tons	\$No Bid	\$No Bid
5.	M-5 Schaumburg	100 Tons	\$85.00	\$85,000.00
6.	M-6 Marengo	100 Tons	\$No Bid	\$No Bid
7.	M-7 Rockford	100 Tons	\$No Bid	\$No Bid
8.	M-8 Naperville	200 Tons	\$85.00	\$17,000.00
9.	M-11 DeKalb	100 Tons	\$No Bid	\$No Bid
10.	M-12 Dixon	200 Tons	\$No Bid	\$No Bid
11.	M-14 Park Ridge	300 Tons	\$85.00	\$28,500.00

Vendor: Cen	tral Blacktop Co., Inc.			
Line#	Maintenance Site	Estimated Quantity	Unit Price Per Ton	Extension (estimated quantity x unit price)
1.	M-1 Alsip	200 Tons	\$75.00	\$15,000.00
2.	M-2 Hillside	300 Tons	\$75.00	\$22,500.00
3.	M-3 Park Ridge	200 Tons	\$75.00	\$15,000.00
4.	M-4 Gurnee	200 Tons	\$No Bid	\$No Bid
5.	M-5 Schaumburg	100 Tons	\$No Bid	\$No Bid
6.	M-6 Marengo	100 Tons	\$No Bid	\$No Bid
7.	M-7 Rockford	100 Tons	\$No Bid	\$No Bid
8.	M-8 Naperville	200 Tons	\$75.00	\$15,000.00
9.	M-11 DeKalb	100 Tons	\$No Bid	\$ No Bid
10.	M-12 Dixon	200 Tons	\$No Bid	\$No Bid
11.	M-14 Park Ridge	300 Tons	\$75.00	\$22,500.00



The Illinois State Toll Highway Authority 2700 Ogden Avenue Downers Grove, Illinois 60515-1703 630/241-6800 630/241-6100 Fax 630/241-6898 TTY 1-800-TOLL-FYI Road Conditions www.illinoistollway.com

BID OPENING RESULTS

IFB #12-0254 Industrial Supplies

Friday, December 19, 2014, Time: 10:30 AM

No Bids